ORer

MACHINE

J
ADJUSTABLE FOOTPEG INSTRUCTIONS

For technical support contact Joker Machine

2245 Kiowa Blvd N. Ste. 100, Lake Havasu City, AZ 86403
PHONE: 909-596-9690, FAX: 909-596-9693
sales@jokermachine.com, www.jokermachine.com

FOR ALL JOKER MACHINE ADJUSTABLE FOOT PEGS

NOTE: USE MEDIUM THREAD LOCKER ON ALL HARDWARE

DISCLAIMER: Joker Machine denies any responsibility for
any issues that may be caused from failure to use liquid
thread locker on all hardware listed below.

Tools

5/16 12 Point Wrench or 1/4” Hex Key/Driver
1/8 Hex Key/Driver

Medium Thread Locker

Installation is easier in some cases if you remove the
footpeg from mount first.

1. Install footpeg to stock footpeg mount using the same hardware
from your original peg.
STOCK PARTS: Pin, retaining clip and spring washer
(OEM # 50912-74)

2. Loosen 1/47-20 x 1/4” set screws found on the bottom of some
footpegs, and 5/16”-18 12 point screw if footpeg is still together after
step 1. This will allow you to adjust the peg.

3. Adjust footpeg to desired position and firmly tighten down 5/16”-18
bolt using medium strength thread locker. Be careful not to strip the
screw.

4. Once footpeg is securely in place firmly tighten the 1/4-20 set screws
using medium strength thread locker.

5. Use our exclusive 10-24 PITCH ADJUSTMENT SCREW that enables
you to change the angle of the peg in order to adjust it to a "level"
riding position (if necessary) so the pegs don't appear to “lay down"
with time, vibration, etc. Tool needed 5/32 hex key/driver.

5/16”-18 X 3/4 12 POINT BOLT

/
10-24 PITCH [

ADJUSTMENT SCREW (-
w

EXTERNAL SERRATED 1/4-20 X 1/4 SET SCREW
LOCK WASHER (5/16" 1.D.) LOCATED ON BOTTOM

081004-1-17/12/2016




